Worksheet 6.1 - 6.3: Solving Ratios and Proportions

Use the diagram and the given information to find the unknown length.

. Given g?=m,ﬁ d BC. 2. Given ;g A% find BC.
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Mexican Pesos In November, 2005, the exchange rate of Mexican pesos to PEsas
U.S. dollars was 10.77 to 1. While on vacation, you paid 205 pesos for $

a sombrero at a gift shop. /0. 7‘|p KOS
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4. What was the price of the sombrero in U.S. dollars? ¢ ;- $ "’oi X :.?0;3_
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5. Ifthe exchange rate were 9.24 Mexican pesos to 1 U.S. dollar, what would have been—— '

the cost in U.S. dollars?

7;3‘4,: - ’ms—" » 924/x=a08"
[ x=%2.(% |

6. The ratio of the measures of the sides of a triangle is 3:5:7, and its perimeter is
450 centimeters. Find the measures of each side of the triangle.
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7. The perimeter of a rectanguiar table is 21 feet and the ratio of its length to its width is 5: 2.
Find the length and width of the table. Q = Sx losadXx

5x 0:5018)=7.5%¢
ax Pa(er =22l |w:a05)s3£
A7) =2 |
I‘-’\g -:-a"

- 3 —3 .
x=Gl=kz ol
8. In the diagram, JKLM ~ EFGH.

A. Find the scale factor of JKLM to EFGH.
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B. Find the values of x, y, and z.
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C. Find the perimeter of JKLM 55_ and EFGH 3 1 -
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D. Find the ratio of the perimeter of JKLM to EFGH. 34 F-
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E. Find the ratio of the perimeter of EFGH to JKLM. o

9. Solve for x using the similar polygons.
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